ITI Electronic Mechanic 2nd Year Module 2 Computer Hardware, OS
and Networking

(1). What is the advantage of SMPS in computer? | Wf{ SMPS DT KT gl

82

(A) Bulky | Scebl

(B) High efficiency | 3= Q&ldl

(C) High frequency noise low | 3= &nqﬁraﬂvm

(D) Servicing of SMPS is easy | SMPS CARICIR &N'I:T%

Correct Answer : B

(2). What is the full form of CD-ROM in computer? | Wﬁ CD-ROM Wq:lﬁ
U R g?

(A) Classified Device Read Only Memory
(B) Computer Disk Read Only Memory

(C) Connectivity Digital Read Only Memory
(D) Compact Disk Read Only Memory

Correct Answer : D

(3). The speed of spindle motor rotates inside the hard disk is | fsa

iR fry wWie 9 81e fowh & siq guar g
(A) 4000to 800 r.p.m

(B) 2500 to 5000 r.p.m

(C) 3500 to 6000 r.p.m

(D) 3600 to 7200 r.p.m



Correct Answer : D

(4). Which component is used to remove the heat generated inside the SMPS? |

SMPS & 3{aR IUd THI &1 g & foTE ford duiHc o1 SUaNT fordT ST ]2
(A) Heat sink | g Rid

(B) Cooler fan | PR Ul

(C) Silicon grease | Rifcrp 1 UG

(D) Mica film spacer | HiehT fiheH WIR

Correct Answer : B

(5). Where the programs and datas are stored after execution in computer? |
SR H Uaa & §1e TITH 3R ST bl 9uld fhu o 82

(A) Buffer | g

(B) Chip set | U e

(C) Memory | HARI

(D) Processor | TR

Correct Answer : C

(6). Which signal is sent by the SMPS to computer mother board? | SMPS A
HER HeR §IS &) I T Hdbd Holl 87

(A) Device signal | %dl‘é{-lﬁ{-iabd
(B) Peripheral signal | ﬂﬁﬁ%ﬁﬂ%
(C) Processor signal | TR Sobd

(D) Power good signal | ﬂ_s'qvmﬂ%



Correct Answer : D

(7). What is the function of schottky diode BA 157 in SMPS circuit? | SMPS gfde

o WPpIc B9 SIS BA 157 BT HI T 62

(A) Error amplifier | gi%um?ﬂw

(B) Switching diode | fafrsars

(C) Voltage regulator | d-\lc%vl?{ﬂadi

(D) Fast recovery diode | BHRe Rpasl S

Correct Answer : D

(8). Which device converts digital data from computer into analog data and
transmit through telephone line? | I AT JUBR HIER ¥ f&fored ST dl
TATANT ST H URafdd HRdl § 3R CehIH A8 & ATEH I UH1Rd Bl 82

(A) MODEM

(B) Chipset | e

(C) Processor | TR

(D) Cache memory | BRI HHL

Correct Answer : A

(9). Which device is used to produce hard copy of a document in a computer? |

R H GXATdSl b1 BTS DUl S o feTT fobd IUHRUN T FUTIT fob T STl
82

(A) Printer | fiex
(B) Monitor | Afex
(C) Modem | ArsH




(D) Speaker | TH

Correct Answer : A

(10). Which component is used to prevent over voltage of AC supply in SMPS? |

sMPs T AC 3MTYfcl & diecs B! A+ o oY [T HUIHe BT ITART b STl 52

(A) Metal film resistor | Hed fhed IoRex

(B) Carbon film resistor | cb|cf-| her Yfore

(C) Metal oxide varistor | Ocd GITGR-II‘iS IfoTeR

(D) Wire wound resistor | dIAR dI3—< IfoTeR

Correct Answer : C

(11). Which metal coating is used on compact disk? | P fg%p R g Yrd
D1 DI BT IUTNT fba AT 82

(A) Silver | DTl

(B) Nickel | e

(C) Chromium | SITHIH
(D) Aluminium | 3{egHI==IH

Correct Answer : D



(12). What is the name of the block marked ‘x’ in the microprocessor architecture

diagram? | ATSHIIEER bR MG H '« gRT fIfyd sl &1 1 R 82
DATA BUS >

|| |

1]

INBTRUCTION l
DECODER L

(A) ALU

(B) Memory | HART
(C) Accumulator | W?T

(D) Program counter | U HIEeR

Correct Answer : C

(13). What is the full form of LBA in computer system? | Wﬁl@ﬁ LBA [
Bd BIH FTg

(A) Low Block Accessing

(B) Large Block Accessing

(C) Large Boot Addressing

(D) Logical Block Accessing

Correct Answer : B



(14). Which section is used by the processor to save instructions? | ﬁéﬁllﬁ

TEoH & o TR gRT {5 ST &1 IUaNT fovarn ST 82
(A) Memory | HHRI

(B) System unit | RIRCASHTS

(C) Graphics card | Tt ®TS

(D) Micro processor | HTZh! THAR

Correct Answer : A

N

[-ch Ych MOV

(15). What is the full form of electronic component MOV? | 5@1
&1 ol U F1 82

(A) Metal Over Varistor

A

(B) Metal Over Varactor
(C) Metal Oxide Varistor
(D) Metal Oxide Varactor

Correct Answer : C



